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REVIEW:

Parallel lines
Parallel lines have the same slope.


Perpendicular lines (Lines that intersect at a 
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One slope is the negative reciprocal of the other (this means that the product of the slopes of two perpendicular lines is 
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).

Example:  Determine algebraically whether the given two linear equations depict parallel lines,    

  
     perpendicular lines, or neither. (Make sure to give an answer.)
a) 
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Example:  
A line is going through a given point and is parallel to a given line.

Set up its equation in point-slope form. Then bring the equation in slope-intercept form.
Point: 
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; Line given: 
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 (find line parallel to it through the point.)
Example:  
A line is going through a given point and is perpendicular to a given line.

Set up its in equation point-slope form. Then bring the equation in slope-intercept form.

a) Point: 
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; Line: 
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 (find line perpendicular to it through the point)
b) Point: 
[image: image13.wmf](

)

3,1

-

; Line: 
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 (find line perpendicular to it through the point)

Rate of change

A slope with units is called “rate of change.”

Example: A car is using an average of  36 miles per gallon on highway travel.

Example: A well drilling company charges $65 per foot when they dig a well.

Example: A piece of furniture depreciates $30 per year (This is a rate of change of  – $30 / year  )
NEW MATERIAL:

The average rate of change


The average rate of change is slope of a secant line through two points on the graph of a function

Two points: 
[image: image15.wmf](

)

11

,()

xfx

 and 
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Make a sketch:

Average rate of change: 
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(Slope of secant line)
Example: Find the average rate of change for 
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Example: Find the average rate of change for 
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Example: Find the average rate of change for 
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A special average rate of change:

What if we have a function 
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and our interval goes from 
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a number very close to the right of x?  In other words: 

Find the average rate of change for 
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 where h is a number close to 0.
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Note: 
This creates the difference quotient (introduced in Ch 2.2). So the difference quotient finds the rate of change for a very short interval and thus can be used to approximate the slope of a line touching the graph at a certain x-value. This concept is explored in Calculus.
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